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QUESTION 1

Exhibit. 
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You are attempting to set up VRRP with R1 and R2 being participating members. You want R1 to be the master router
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and R2 to be the backup router with the virtual router they create being at address 172.25.100.1. The virtual router is not
pinging from either User A or User B. 

Referring to the exhibit, what must be done to correct the problem? 

A. The VRRP group value on R1 and R2 must match. 

B. A VRRP authentication type value is needed on R1 and R2. 

C. A VRRP policy is needed on R1 and R2. 

D. The VRRP priority value on R1 and R2 must match 

Correct Answer: A 

https://www.juniper.net/documentation/en_US/junos/topics/reference/configuration- statement/priority-edit-interfaces-
vrrp.html 

 

QUESTION 2

Click the Exhibit button. 

Referring to the exhibit, which statement is correct? 

A. R1 and R2 are elected as DROthers. 

B. R3 has the complete OSPF database. 
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C. R3 and R4 have an adjacency state of Full. 

D. R4 is elected as the DR. 

Correct Answer: B 

 

QUESTION 3

Click the Exhibit button. 

Referring to the output shown in the exhibit, which two statements are correct? (Choose two.) 

A. The device is not an ABR. 

B. The device originated the 192.168.1.2 database entry. 

C. The device originated the 192.168.1.1 database entry. 

D. The device is an ABR. 

Correct Answer: BD 

 

QUESTION 4

If an EX Series switch receives a frame with a known destination MAC address, what is the expected behavior? 

A. The frame is sent out all ports assigned to the associated VLAN except the ingress port on which the frame was
received. 

B. The frame is sent out all ports assigned to all configured VLANs except the ingress port on which the frame was
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received. 

C. The frame is sent out all trunk ports associated with the ingress VLAN regardless of whether a matching MAC
address was found in the bridge table. 

D. The frame is sent out the egress port with a matching destination MAC address within the bridge table associated
with the ingress VLAN. 

Correct Answer: D 

 

QUESTION 5

Which three link-specific fields must match between OSPF neighbors before they form an adjacency over a broadcast
medium? (Choose three.) 

A. router priority 

B. hello interval 

C. neighbor 

D. dead interval 

E. options 

Correct Answer: BCD 
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